	
	TIRAGE
	MOT TROUVE
	PTS
	CUM.
	SOLUTION
	REF
	PTS
	commentaire

	1
	OQEIRTE
	

	2
	OQ+AANXU
	
	
	
	ETIER
	H4
	12
	Canal côtier

	3
	NOQU+RSA
	
	
	
	AXAI
	6E
	33
	

	4
	AVJAU ?O
	
	
	
	RAQUONS
	3B
	86
	

	5
	AOV+ITTE
	
	
	
	JAQU(E)
	D1
	52
	Fruit du jacquier

	6
	HER ?NEC
	
	
	
	REVOTAIT
	8H
	86
	

	7
	LBNAPAR
	
	
	
	ÉCH(A)RNE
	A2
	112
	

	8
	- GRSEITI
	
	
	
	JABLA
	1D
	42
	Jabler = rainurer

	9
	IGUERFU
	
	
	
	TIGERAIS
	M3
	72
	

	10
	UU+EMLOI
	
	
	
	FIGER
	2J
	44
	

	11
	IOUU+CRS
	
	
	
	MÊLE 
	5C
	23
	

	12
	ISUU+ETN
	
	
	
	ROC
	1M
	28
	

	13
	EINUU+SZ
	
	
	
	JAQUETS
	D1
	34
	= jacquets

	14
	U+TLOIVE
	
	
	
	USINEZ
	L10
	52
	

	15
	SOPEDIN
	
	
	
	VITOULET
	O6
	62
	Boulettes de veau haché

	16
	MEBUOLA
	
	
	
	PENDIONS
	13F
	78
	

	17
	EKNNLAM
	
	
	
	BOULÂMES
	11E
	94
	

	18
	KNN+EPSY
	
	
	
	LAMEZ
	15H
	45
	

	19
	K+DUEWHF
	
	
	
	PENNYS
	D10
	48
	=pennies=pence

	20
	FHKUW+D
	
	
	
	DE
	1A
	48
	

	21
	DFUW
	
	
	
	KHI
	4K
	30
	

	22
	
	
	
	
	DU
	C11
	19
	

	23
	
	
	
	
	
	
	
	

	24
	
	
	
	
	
	
	
	

	25
	
	
	
	
	
	
	
	

	
	
	
	
	TOP : 1100
	
	Pourcentage :
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